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= Vermenigvuldiging van veeltermen

Naam: Datum: Score:
(x— 6)(8x + 9x + 9) (6x° — x— 1)(9x — 2)
(9x” + 8x + 8)(4x + 6) (9 — 62 (4x — 5)
(x— 18— 1) (7+ 6x)(6x + 8)
(3x> — T)(3x + 4) (5- 52 (x+38)
(9— 52 (2x + 5) (5= 9x)(6x + 6)
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Vermenigvuldiging van veeltermen

Naam:

(x— 6)(8x% + 9x + 9)
8x° — 39x* — 45x — 54

(9x% + 8x + 8)(4x + 6)
36x° + 86x% + 80x + 48

x— D8 —1)
8x> — 9x+ 1

(3x% — N(3x + 4)
9> + 12x% — 21x — 28

(9— 52 (2x + 5)
—10x° — 25x% + 18x + 45

Datum: Score:

(6x —x— 1)(9x — 2)
54x — 21> — Tx+2

(9— 6% (4x — 5)
245" + 30x% + 36x — 45

(7 + 6x)(6x + 8)
36x” + 90x + 56

(5— 5% (x+ 8)
—5x° — 40x° + 5x + 40

(5— 9x)(6x + 6)
—54x% — 24x + 30
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